By Hiroshi HIROKAWA

(Comm. by T. Kawata)

(

1. Let $\mathcal{P}(t)$ be an even periodic function with Fourier series

(1.1)
$$p(t) \sim \sum_{n=0}^{\infty} a_n \cos nt$$

 $a_0 = 0$

The α -th integral of $\varphi(t)$ is defined by

$$\overline{\Phi}_{A}(t) = \frac{1}{\left(\frac{d}{d}\right)} \int_{0}^{t} \varphi(t) \left(t - u\right)^{d-1} du , \quad (d > 0)$$

and the β -th Cesáro sum of (1.1) at t = 0 is denoted by $s_n^{\beta}(\beta > -1)$.

C.Loo [3] proved the following theorem.

THEOREM 1. If $\neq > 0$ and

(1.2)
$$S_m^{d} = O(n^{d} \log n)$$
 as $n \to \infty$

then

(1.3)
$$\overline{\Phi}_{d+1}(t) = o(t^{d+1})$$
 as $t \to 0$.

He proved this Theorem using the Young function. We shall prove, in this paper, this Theorem in another way.

On the other hand, G.H.Hardy and J.E.Littlewood (2) proved that Theorem 1 holds for a = 0, under the additional condition

$$a_n = O(n^{-\delta}) \quad \text{as} \quad n \to \infty,$$

for $0 < \delta < 1$. Later, 0.Szász [5] proved this Theorem, under some weaker condition. (See Corollary in §3) Concerning this theorem, we shall prove, in this paper, the following theorem.

THEOREM 2. If (1.2) holds for $-1 < \alpha < 0$ and

1.4)
$$\sum_{\nu=n}^{\infty} |\alpha_{\nu}|_{\nu} = O(n^{-\delta})$$

for $0 < \delta < 1$ and $d + \delta > 0$, then we have (1.3).

For the proof, we need the following Lemmas due to G.Sunouchi [4].

LEMMA 1. If
$$d \ge 1$$
 and $\beta \ge 0$, then
(1.5)
$$\int_{0}^{t} u^{\beta} (t^{2} - u^{2})^{\alpha - l} \cos nu \, du$$

$$= O\left(n^{-d} t^{\alpha + \beta - l}\right).$$

LEMMA 2. If $2 \ge d \ge 0$ and $\beta \ge 0$, then

$$(1.6) \int u^{\beta}(t-u)^{d-1} \cos nu \, du = O(n^{-d}t^{\beta}).$$

2. PROOF OF THEOREM 1. Let us write

$$\overline{\Phi}_{N+1}^{*}(t) = \sum_{m=0}^{\infty} a_{m} \int_{0}^{T} (t^{2} - u^{2})^{m} \cos m u \, du$$

$$= \left(\sum_{m=0}^{M} + \sum_{m=M+1}^{\infty}\right) = I + J,$$

where $M = [t^{-r}]$ and r > max(d+1), (d+1)/d.

Since $a_n = o(1)$ as $n \to \infty$, we have, by (1.5), $J = O\left(\sum_{m=M+1}^{\infty} n^{-(d+1)} t^{\alpha}\right) = O\left(M^{-\alpha} t^{\alpha}\right)$

$$= O(t^{dr+d}) = o(t^{2d+1}),$$

for d r > d+1. Using the well-known formula

(2.1)
$$a_{n} = \sum_{\nu=0}^{n} (-1)^{n-\nu} {d+1 \choose n-\nu} S_{\nu}^{d}$$

~ 79 ~

we have

$$I = \sum_{m=0}^{M} a_{n} \int_{0}^{t} (t^{2} - u^{2})^{d} \cos nu \, du$$

$$= \sum_{\nu=0}^{M} S_{\nu}^{d} \int_{0}^{t} \left\{ \sum_{m=\nu}^{M} (-1)^{m-\nu} \binom{d+1}{m-\nu} \cos nu \right\} (t^{2} - u^{2})^{d} du$$

$$= \sum_{\nu=0}^{M} S_{\nu}^{d} \int_{0}^{t} \left[2^{d+1} (u \sin \frac{u}{2})^{d+1} \cos \left\{ (\frac{d+1}{2} + \nu) u + \frac{d+1}{2} \pi - \sum_{m=M-U+1}^{\infty} (-1)^{m} \binom{d+1}{m} \cos (m+\nu) u \right\} (t^{2} - u^{2})^{d} du$$

$$= I_{1} - I_{2},$$

say. Further, we write

$$I_{i} = \left(\sum_{\nu=0}^{N} + \sum_{\nu=N+i}^{M}\right) = I_{i}' + I_{i}'',$$

where $N = [t^{-1}]$. Then, by

$$\int_{0}^{t} u^{d+1} \cos m u \left(t^{2} - u^{2} \right)^{d} du = O\left(t^{3d+2} \right),$$

we have

$$I'_{i} = o\left(\sum_{\nu=z}^{N} \frac{\nu^{d}}{l_{\nu g} \nu} \cdot t^{3d+2}\right)$$
$$= o\left(t^{3d+2} \cdot \frac{N^{d+1}}{l_{\nu g} N}\right) = o\left(t^{2d+1}\right),$$

and, by (1.6),

$$I_{1}'' = o\left(\sum_{\nu=2}^{N} \frac{\nu^{d}}{\log \nu} \cdot \frac{t^{2d+1}}{\nu^{d+1}}\right)$$

= $o\left(t^{2d+1}\log r\right) = o\left(t^{2d+1}\right).$

Concerning I_2 , we have

$$I_{2} = o\left(\sum_{\nu=2}^{M} \frac{\nu^{d}}{\log \nu} \sum_{m=N-\nu+1}^{N} \frac{1}{m!^{d+2}} \cdot \frac{t^{d}}{(m+\nu)^{d+1}}\right)$$

= $o\left(\frac{t^{d}}{M^{d+1}} \sum_{\nu=2}^{M} \frac{\nu^{d}}{(M-\nu+1)^{d+1}}\right)$
= $o\left(\frac{t^{d}}{M} \sum_{\nu=1}^{M} \frac{1}{(M-\nu+1)^{d+1}}\right)$
= $o(M^{-1}t^{d}) = o(t^{d+r}) = o(t^{2d+1}),$

for r > d+1.

Thus, we have

$$\Phi_{d+1}^{*}(t) = o(t^{2d+1}).$$

Then, by K. Chandrasekharan and 0.Szász's Theorem [1], we have

$$\overline{\mathfrak{P}}_{d+1}(t) = o(t^{d+1}),$$

 η which is the required.

3. PROOF OF THEOREM 2. The case d = 0 is due to 0.Szasz [5]. For d < 0, we write

$$T'(d+1) \overline{P}_{d+1}(t)$$

$$= \sum_{m=0}^{\infty} a_m \int_0^t coom u (t-u)^d du$$

$$= \left(\sum_{\substack{n=0\\n=0}}^M + \sum_{\substack{m=M+1\\n=0}}^{\infty}\right) = I + J$$
ore $M = [t^{-r}]$ and $r > (d+1)/(d+\delta)$

whe $\sim (m + 1)/(\alpha + d)$ Let us write

$$P_m = \sum_{\nu=m}^{\infty} |a_{\nu}|_{\nu} ,$$

then $|a_n| = n(p_n - p_{n+1})$ and for $d+1 > \varepsilon > 1 - \varepsilon$,

$$\sum_{y=m}^{n} \frac{|a_{v}|}{v} = \sum_{y=m}^{n} v^{+\varepsilon} (p_{v} - p_{v+1})$$
$$= O(m^{-\varepsilon-\delta+1}) + O(\sum_{v=m}^{n} v^{-\varepsilon-\delta})$$
$$= O(m^{-\varepsilon-\delta+1}).$$

Thus, we have, by (1.4) and (1.5),

$$J = O\left(\sum_{\nu=M+1}^{\infty} |a_{\nu}| \sqrt{\nu} d+i\right)$$

= $O\left(\sum_{\nu=M}^{\infty} \frac{|a_{\nu}|}{\nu^{\varepsilon}} \cdot \nu^{\varepsilon-d-i}\right)$
= $O\left(M^{\varepsilon-d-1} M^{\varepsilon-\delta+i}\right)$
= $O\left(M^{-d-\delta}\right) = O\left(t^{(d+\delta)} T\right)$
= $O\left(t^{(d+1)}\right)$

for $(\alpha + \delta)r - (\alpha + 1) > 0$.

Next, we shall prove $I = o(t^{d+1})$. By the formula (2.1), we have

$$I = \sum_{m=0}^{M} a_m \int_0^t \cos m \omega (t - \omega)^d d\omega$$

- 80 -

$$= \sum_{\nu=0}^{M} S_{\nu} \int_{0}^{t} \left[2^{d+t} \left[\frac{\lambda}{2} \right]^{d+1} \cos \left\{ \left(\frac{d+1}{2} + \nu \right) u + \frac{d+1}{2} \pi \right\} \right]$$

$$- \sum_{m=M-\nu+1}^{\infty} (-1)^{m} \left(\frac{d+1}{m} \right) \cos (m+\nu) u \left[(t-u)^{d} du \right]$$

$$= I_{1} - I_{2} ,$$

say. Further, we write

$$I_{i} = \left(\sum_{\nu=0}^{N} + \sum_{\nu=N+1}^{M}\right) = I_{i}' + I_{i}'',$$

where N = $\left[t^{-(d+1)}\right]$. Then, by (1.2)
and (1.6),
 $I_{i}'' = o\left(\sum_{\nu=N+1}^{M} \frac{\nu^{d}}{\log \nu} \cdot \frac{t}{\nu^{d+1}}\right)$
= $o\left(\sum_{\nu=N}^{M} \frac{t^{d+1}}{\nu \log \nu}\right)$
= $o\left(t^{d+1} \log \frac{t}{\sigma^{d+1}}\right) = o\left(t^{d+1}\right).$

Since, by the second mean value theorem,

$$\int_{0}^{t} \left(\operatorname{Rim}_{2}^{\mu} \right)^{d+1} \cos \left\{ \left(\frac{d+1}{2} + \nu \right) u + \frac{d+1}{2} \pi \right\} (t-u)^{d} u \\ = 0 \left(t^{2d+2} \right),$$

we have

$$I'_{l} = 0 \left(\sum_{\gamma=2}^{N} \frac{\nu^{d}}{\log \nu} \cdot t^{2d+2} \right)$$
$$= 0 \left(\frac{N}{\log N} \cdot t^{2d+2} \right) = 0 \left(t^{d+1} \right)$$

By the following estimation:

$$\sum_{\substack{\nu=1\\\nu=1}}^{M} \frac{\nu^{d}}{(M-\nu+1)^{d+1}}$$

$$= \sum_{\substack{\nu=1\\\nu=1}}^{M/2} \frac{\nu^{d}}{(M-\nu+1)^{d+1}} + \sum_{\substack{\nu=M_{2}\\\nu=1}}^{M} \frac{\nu^{d}}{(M-\nu+1)^{d+1}}$$

$$= O\left(M^{-d-1} \sum_{\substack{\nu=1\\\nu=1}}^{M/2} \nu^{d}\right) + O\left(M^{d} \sum_{\substack{\nu=1\\\nu=1}}^{M} \frac{i}{(M-\nu+1)^{d+1}}\right)$$

$$= O\left(M^{-d-1} M^{d+1}\right) = O\left(M^{d} M^{-d}\right)$$

$$= O(1),$$
we have

$$I_{z} = o\left(\sum_{\nu=2}^{M} \frac{\nu^{d}}{l_{ug}\nu} \sum_{\nu=M-\nu+1}^{do} \frac{1}{m^{d+2}} \cdot \frac{1}{(m+\nu)^{d+1}}\right)$$

= $o\left(M^{-(d+1)} \sum_{\nu=1}^{M} \frac{\nu^{d}}{(M-\nu+1)^{d+1}}\right)$
= $o\left(M^{-(d+1)}\right) = o\left(t^{(\alpha+1)}\right) = o\left(t^{d+1}\right).$

Thus, we have

$$\overline{P}_{d+1}(t) = o(t^{d+1}),$$

which is the required.

We end this paper by proving

$$\sum_{\nu=n}^{2m} (|a_{\nu}| - a_{\nu}) = O(m^{1-\delta}) \text{ as } m \to \infty,$$

for $0 < \alpha + \delta \leq 1$ and $0 < \delta < 1$, then we have (1.3).

PROOF. The case $\alpha = 0$ is due to 0.Szász [5].

From (1.2), we have, by the well-known theorem,

$$S_{m}^{0} = S_{m} = O(n^{d}) = O(n^{1-\delta}).$$

Then, using Szász's argument [5], we have

$$\sum_{\nu=n}^{\infty} |a_{\nu}|_{\nu} = 0 (n^{-\delta}),$$

which is (1.4).

REFERENCES

- [1] K.Chandraseknaran and O.Szász : On Bessel summation, Amer. Jour. Math. 70(1948), pp.709-729.
- [2] G.H.Hardy and J.E.Littlewood : Some new convergence criteria for Fourier series, Annali di Pisa, 3(1934), pp.43-62.
- [3] C.Loo: Two Tauberian theorems in the theory of Fourier series, Trans. Amer. Math. Soc. 46(1944), pp.508-518.

- 81 -

- G.Sunouchi : Cesaro summability of Fourier series, Tôhoku Math. Jour.
 (2), 5(1953), pp.198-210.
- (5] O.Szász : On convergence and summability of trigonometrical series, Amer. Jour. Math. 64(1942), pp.575-591.

Department of Mathematics, Chiba Institute of Technology, Chiba.

(*) Received October 10, 1955.